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Psychology

Paper 11

HEAIMH
qyutstent 11

Time Allowed : 75 Minutes]
Note : This Question Paper contains Fifty (50) multiple choice questions. Each

[Maximum Marks : 100

question carries Two (2) marks. Attempt All questions.
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Which one of the following is the

most essential characteristic of

psychological experiment ?

(A) Active manipulation of an
independent variable

(B) Use of complex apparatus and
instruments

(C) Random assignment of subjects
to experimental and control
groups

(D) Statistical control of secondary
variance

The kind of thinking that Gestaltists

emphasize on, is

(A) productive thinking

(B) reproductive thinking

(C) convergent thinking

(D) associative thinking

1.
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Which of the following personality

measurement do not have reasoning

items assessing intelligence ?

(1) NEO-personality inventory-
Revised, by Costa and
McCrae

(2) Catell’s 16 PF

(3) Edwards personal preference
schedule

(4) Eysenck personality question-
naire-revised

(A) (1), (2) and (3)

(B) (2), (3) and (4)

(C) (1), (2) and (4)

D) (1), (3) and (4)

Anterograde amnesia results

from

(A) disorder in the retrieval of
information

(B) disorder in the encoding of
information

(C) disorder in the decoding of
information

(D) disorder in the analysis of

information
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Osmotic thirst is caused by

(A) an increase in the concentration
of salt in the extracellular fluid

(B) a decrease in the concentration
of salt in the extracellular
fluid

(C) loss of extracellular liquid
resulting in decrease of blood
pressure

(D) psychological state of the
individual initiated by the sight
of water

Top down theories of perception

stress on :

(1) construction of reality beyond
information received

(2) past knowledge, expectations
and stereotypes

(3) richness of information received
by eyes

(4) data
sensation

(A) (2) and (3) only

(B) (1) and (2) only

(C) (3) and (4) only

(D) (1), (2) and (3) only

Which one of the following is an

example of artificially discrete

variable ?

available through

(A) Scores on intelligence test
(B) Sex of the respondent

(C) Examination results in terms of
pass and fail categories

(D) Nationality of the respondent

5.
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10.

Which of the following motives are
not largely based on homeostatic

controls ?

(A) Hunger
(B) Thirst
(C) Sex

(D) Sleep
Glial cells are

(A) non-neuronal cells that provide

support and nutrition to

neurons

(B) some of the large neurons in the
human brain

(C) neurons with triangular
soma

(D) non-neuron cells that do not
provide physical support to the
neurons

Monocular determinants of

perceived distance are
(1) Accommodation
(2) Linear perspective
(3) Convergence

(4) Texture gradient
(A) only (1)

(B) only (1) and (3)
(C) only (2) and (4)
(D) only (3) and (4)

10.
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11.

(Memory Store)

P)

Q
®R)

S)

12.

List I

Match List I with List II
and select the correct answer
using the codes given below the
lists.

List II

(Cause of Retrieval

Failure)
Echoic (1) Inappropriate cues
Short-term (2) Masking
Long-term (3) Inappropriate
articulation
Working (4) Displacement

(5) Dissociation

Codes :

® @ ®
A (2 4) (GO G))
B) (6) 4) 3) (1)
<© O (2) L 6
D) (@) (1) (5) 3)
The sensory nerve that bypass brain

stem and goes directly to the

forebrain is

(A) auditory nerve
(B) optic nerve
(C) olfactory nerve

(D) trigeminal nerve
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13. Match List I with List II
and select the correct answer
from the codes given below.

List I List II
(Measure) (Subscale)
(P) EPQR (1) Affiliation
(Q@Q NEO-PIR (2) Lie Scale
(R) Edwards Personal (3) High Ergic
Preference Tension
Schedule
(S 16PF (4) Conscientiousness
Codes :

P @ ®

A) (2 (1) 4) 3

B) O (1) 4) (@

< @ (3) 1 @

D) (2) 4) o 3

14. Reaction formation refers to

(A) the unconscious reproduction of
self wupon other
person’s self to avoid difficult

one’s

impulses
(B) converting dangerous,
painful unconscious impulses
into their opposite
impulses
(C) transformation of negative
emotions or instincts into
socially acceptable actions
behaviour or emotions
(D) changing the

of once own wunconscious

target

impulses
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15.

16.

P)

Q

R)

S)

List 1
(Theoretical

According to Gardner’s theory of
multiple intelligences, which of the
following are distinct types of
intelligence ?

(1) Linguistic intelligence

(2) Musical intelligence

(3) Kinesthetic intelligence

(4) Creative intelligence

(A) (1), (2) and (4)

(B) (2), (3) and (4)

(C) (1), (3) and (4)

D) (1), (2) and (3)

Match List I with List 1II
and select the correct answer

using the codes given below the
lists.

List II
(Explanation)

Views)

(1) Mind has innate
ideas

Empiricism
PDP model (2) Perception is
computed by brains
perceptual system
Nativism (3) Recognition occurs
as a result of the
simultaneous
operation of
connected units
Mind is a blank

state on which

Constructivist (4)

experiences with
the world leave its
markings

Codes :

P Q@ @® (©®

A) @) 3) o @

B) @) (2) o 3

< O (1) (4) (2)

D) @ (2) 3 @

15.

16.
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Q
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Tt 1
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17. Match List I with List IT and select
the right answer from codes given

below.
List I List II
(Theory) (Statements)

(P) James Lange (1) The autonomic raw
materials may not
allow themselves
to be shaped into
virtually any
emotional
experience

(Q Cannon & Bard (2) The visceral

experiences are not
sufficient condition
for emotional
experiences

(R) Schacter & Singer (3) Autonomic arousal

will provide only
the raw material
for emotional
experience

(S) Ekman (4) The subjective

experience of
emotion is
Sin-qua-non of
the awareness of
our own bodily

changes

Codes :

(A) (P)-(4)
(B) (P)-(1)
(C) (P)-(3)
D) (P)-(2)

Q-(2) (R)-(3) (S)-(1)
@-2) (R)-3) (S)-4)
@-4) (R)-(1) (S)-(2)
(Q-1) (R)-(4) (S)-3)
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18.

19.

The reciprocal determinism of social-

cognitive personality theory of

Bandura asserts that

(A) environment causes behaviour
and personality

(B) environment causes behaviour
and behaviour shapes
personality

(C) personality develops as a
function of splitting of self from
environment

(D) internal personal factors,
environment and behaviour
cause each other

Mohan’s heart is racing because he
just ran 5 kms. According to the
cognitive labelling theory which of
the following reasons can be assigned
if Mohan does not feel any
emotion ?

(1) He knows that arousal stems
from the exercise.

(2) He does not have satisfactory
explanation for why his heart
is racing.

(3) He knows that his heart will
rapidly return to its normal
state as he stops running.

(4) He is too tired to think about

anything.

(2) and (4)

(1) and (3)

(1), (2) and (4)

(1), (2) and (3)

(A)
(B)
(C)
(D)

18.

19.
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(B)
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(D)
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20. Retina registers dimensions of
(A) depth and width

(B) length and width

(C) length and depth

(D) length, depth and width
Which one of the following attitude
scaling methods was not proposed by
L.L. Thurstone ?

(A) Paired comparison

(B) Scalogram

(C) Equal appearing intervals
(D) Successive intervals

‘Location’, in relation to Rorschach
test, is concerned with

(A) Colour/Movement
(B) Whole/Part

(C) Figure/Space

(D) Fantasy/Emotion

Match List I with List II and select
the correct answer from codes given
below.

List I
(Terms)
Concepts

21.

22.

23.

List II
(Explanation)

(1) Mental representations
that express relationship
between concepts, can
be true or false

(2) Categories of objects,
events or ideas with
common properties

(3) Mental representation of

P)

Q

Images

(R)  Proposition
visual information

(4) Set of proposition that
create generalization and
expectations about
categories of objects,

places, events and people

Q
3)
(1)
(2)
(4)

(S) Schemas

Codes :

@)
(2)
(2)
3)
(1)

R)
(1)
3)
4)
(2)

(S)
4)
4)
(1)
(3)

(A)
(B)
()
(D)
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(C) Tl 3faa
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(A) TI/BeTdred

(B) qUi/3t9

(C) et/ e

(D) HETART/ e
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WAl hd dr9®d T 3T
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20.

21.

22.

23.

‘ gt 11
(&7 (TreieRTun)
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. e Fefor
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A (2) 3) 1 @
B) (2) (1) 3) 4)
(QRENE) (2) (4) (1)
D) @) (4) (2) (3)
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94. Which of the following non- | 24 TTeTeTdeh! IV STITEed  ST=oi=
parametric test has nearest WML HREFHA Wi S-ar=oiten o
equivalent power efficiency with W@ A e ?

ic ¢- ?
that of parametric ¢-test ? (A) W-=heft 32w
(A) Mann-Whitney U-test . N

(B) T&hmeh ==l

(B) Median test N

. (C) SEhal-dfeird ==
(C) Kruskal Wallis test
(D) Sign test (D) |

25. The children who exhibit overall | 25 a7t @ A I EERINCIRIN
retarded intellectual functioning but AR Heed foqd wig St ufes wfa
demonstrate prodigious rote STTfOT/feRa T eTdTETEd STelsheR gfaa
memories and/or calculating abilities St e g e
are referred to as . ’

(A) ‘<urien’ (frRe) 7o
(A) ‘Gifted’ children
+ mf s.ﬁ,:—qz WUE
(B) ‘Idiot Savant’ (B) Tj ( )
(C) ‘Delinquent’ children (C) ~S9=m] Hﬁ
(D) ‘Superior’ children (D) ‘g’ (guEr) qd

26. Application of a principle learned in | 26. e TR Ihdl HLAM AT qd
one problem solving situation to the T T Ore Il FIEHAT A AT
solution of another problem is -
called. )

o (A) IFT&T0T-HehHoT TEUTATd
(A) transfer of training
(B) transposition (B) TR TR
(C) insight learning (C) TG~ 217 UMM
(D) cognitive restructuring (D) dufFe g=A =
11 [P.T.O.



27.

28.

29.

The theory of emotion that states
that the cognitive appraisal mediates
between the stimulus and the
emotional response to that stimulus
is proposed by

(A) Darwin

(B) Cannon

(C) Lazarus

(D) James Lange

Retroactive interference is a special
kind of

(A) positive transfer

(B) negative transfer

(C) zero transfer

(D) transposition phenomenon

What is the correct sequence of
thought, after sensory system takes

in information from the world ?
(1) Act

(2) Decide

(3) Elaborate

(4) Plan

(5)
(A)
(B)
©)
(D)

Describe

(5), (3), (2), (1), (4)
(5), (2), (D), (3), (4)
(5), (3), (2), (4), (1)
4), (2), (5), (3), (1)

27.

28.

29.
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TeAh JEeh 9 @ Sardehtd faelt S
yiafean amd megeedt g @ (fagim)
vl gfquifed e 3mE ?

(A) SIfed

(B) %A

(C) =™

(D) SFE-Tfm

qadell faem ¢ fafire gw= (=)
(A) ¥ THAT TR

(B) RUI HHAU 3T

(C) I THAT L

(D) TIAFRO 2T 3R

aefen Wfehd- ST Alfgdl SHacAH =

foam gfsha=n I A v ?
(1) Tz =20

(2) fofg =o

(3) TIRIHIUT HL]

(4) FSET A

(5) UM HI

(A) (5), (3), (2), (1), (4)

B) (5), (2), (D, 3), (4)

(©) (5), (3), (2), (4), (1)

D) @), (2), (5), (3), (1)
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30. Gestalt principles are applicable

31.

to
(A) two-dimensional drawings more
than three-dimensional objects
(B) two-dimensional drawings and
equally to three-dimensional
objects

three-dimensional objects more
than to two-dimensional drawings
two-dimensional and three-
dimensional drawings
Passage for linked items (Q. Nos. 31
to 33) :

Read the following paragraph and
answer the three questions given
below.

(C)

(D)

While playing in the garden a child
saw a football. She kicked the ball.
After hitting the ball, she noticed
some unusual movement in nearby
bushes. Suspecting a danger, she got
anxious and scared. Her palpitations
and sweating increased. Suddenly,
her pet puppy came out of the bushes
and she immediately felt extremely
relieved.

Which one of the following systems
was carrying the sensory signal of
spotting a football to the CNS ?
(A) Afferent nerves of somatic
nervous system

(B) Efferent nerves of somatic
nervous system

(C) Afferent nerves of autonomic
nervous system

(D) Efferent nerves of autonomic
nervous system

AUG-13211/11
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32.

33.

Question Nos. 34 to 37 :

Which of the following systems got
activated when the girl was anxious
and scared ?

(A) parasympathetic nervous
system
(B) sympathetic nervous system

(C) afferent nerves of autonomic
nervous system
(D) somatic nervous system
Which of the following system got
activated when the girl felt
relieved ?
(A) Parasympathetic
system
(B) Sympathetic nervous system
(C) Afferent nerves of autonomic
nervous system
(D) Somatic nervous system
In the
following questions, each
question has two statements—
Assertion (A) and Reason (R).
Read each question carefully
and decide whether Assertion
and Reason are individually
correct or not, and if they are
correct, whether the Reason is
a valid explanation of the
Assertion. For each question,
before the corresponding
question number, indicate your
answer using the following
codes :
Both A and R are true and R
is the correct explanation of A
Both A and R are true but R
is not the correct explanation
(C) A is true but R is false
(D) A is false but R is true

nervous

(A)

(B)

32.

33.
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faumma ganed TRl 38 T d
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U HIRTIHAR WTelTd Tehdd aTded
el 3L S
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TR 3R

fa4m (A) 9 R (R) =1 9 3Ted
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34. Assertion (A) : Collection of data .
. . 34. faum (A) : wew W enfor SEfie
and information
from natural
, N fETidter mifedt & A
environment 1s a
component of field AT T SR
study.
Reason (R) :  Secondary variance FTT (R) e STETEE =
can wusually be
very efficiently PELUIEE L IREREN
controlled in field
studies. AT .
35. Assertion (A) : The correlation 35. f9H (A) @Eﬂ?ﬂ T W‘—R’ﬂﬂm
between intelli- ..
. Y TU T HeHaY
gence and creati- -
vity is very high. . '
IR @I@H\"ll S qaqsilaaa
Reason (R) : Intelligence and (R) .
e ElICEIED Frare
creativity involve
cognitive abilities .

36. Assertion (A) : The time taken to | 36- faum (A) : sieuwTfas ;HH'T?L:[
retrieve an item TEE Seh T
from STM is FIAAT AT ezl
linearly related to

HAeqwifas A
the number of items )
. . JUcTS THIT T ZhT=A1
available in the
STM. TN T a4 3.
Reason (R) :  Retrieval of FRU (R) :  eURIfase TS
information from mifedt=ar  9eaaIATd
the STM involves a .~ .
SAl4d AHIdAR ?ﬁtlltll
random parallel
search. AT ST,
15 [P.T.O.



